223 =132

343 =343 /

x2/3 =16
(P2 = 1632
x = *(16'2)
x=*+43
23 x = *64
Check x = 64: Check x = —64:
2(64)23 £ 32 2(-64)*3 £ 32
2064132 X 32 2[(~64)!31? 2139
2042 £ 32 2(-4)y £ 32
2(16) £ 32 2(16) £ 32
30 =30 30 =9
9x*% = 36
=4
(x2%)52 = 4572
x = +(412)
x=+2°
o5 x= x32
Check x = 32: Check x = —32:
9(32)*% £ 36 9(-32)*3 £ 36
9(32!5)2 £ 36 9[(-32)'5]2 £ 36
9(2)* £ 36 2(-2)2 £ 36
9(4) £ 36 2(4) £ 36
36 =364 36 =36 v/
e + 972 = 49
(x +9)y?% =343
[(x 3 9)3/2]2/3 = 34323
7 x+9 =49
x =40
Check: (40 + 9)*2 £ 343
4932 £ 343




29.

(%x— 11)% =3

[(%x = 11)"’2]2 =52

1

3 11 =25
|
§x=36
x = 108

Check: [%(108) - 11]”2 25
(36— 11)12 L5
25121 5

5=5¢

31.

(3x + 43)%3 + 22 = 38
(Bx + 43)*% =16
[(3x + 43)2./3]3/2 - 163/2
3x + 43 = £(16'2)°

6423 + 22 L 38
6413y + 22 £ 38
42+ 22238
16 + 22 £ 38

38 =38v

3x + 43 = +4°
3x 4 43 = +64
=21 or 3x = —107
x=17 or X = -1-(32
Chetlox=7: Ol = —‘;i:

(3(7) +437% +22 238 [ '07 + 43] +22238
(21 +43)2% +22 £ 38 (—107 +43)23 422 £ 38
(—64)23 + 22 £ 38
[(—64)"*)2 + 22 £ 38
(—4y ¥22 £ 38

16 + 22 £ 38

38 =38V




33.

Each side of the equation should have been squared, no
just one side.

@+ 7*=35
[t " = 5°
x+7=25
x=18

x— 10 =Vox
(x — 102 = (Vox)?
x2 — 20x + 100 = 9x
x? —29x + 100 = 0
x—4)(x—25)=0
x—4=0 or x—-25=0

35.
x=4 or x=25

Check x = 4: Check x = 25:

4 - 10 £1/94) 25 — 10 £1/9(25)
-6 < V36 15 £ V255
—6#6 15=15

The only solution is 25.

V2lx+1=x+5

37.

(\/511(T12=(x+5)2
2lx + 1 =x2 + 10x + 25
0=x%—11x+24
0=(x—8)(x—3)
x—8=0 o x—3=3

x=8 or x=3
Check x = 8: Check x = 3:
V218)+1 £8+5 V213)+ 1 23 +5
V169 £ 13 Vea £ 8
13=13V 8§ =8V

The solutions are 3 and 8.




39.

Vi2+4=x+5
(Vx2 + ) (x + 5)

2+4=x+10x+ 25

=21 = 10x
_21 _
T
Check: (20 +42 -2+ 5
ek 10 10
V841 229

29=29v




V3-8 =2x
(V3-8:2)' = 20

3-8 =16t

or

B+203) £ -3
V9 # —iV3

The only solution is %

0=16x*+ 8% —3

0= (4x* +3)4x* — 1)
=42 +3)2x+ DH2x— 1)
24+ 1=0

or

2% =1

_—
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